EEHEE-TS |

> HEETE D @ (511)
> 4FED#M$ A, B, C,D hdh5
> STEOREET o, B,,0,e &2LB
> FMHEOREYH, S8 RETI1EA
ELDICHELRMFEL, FETER

> BRmZEREKRICT DEEFEZT-THL)

> FiE b ERED E Dk (KEERE)
Hx, ... BG OVERS (Bt

Py
BHARIRIL x = (x x5 X3 X X5)

> soE b BB D ENE REARED)
> FRmZERIRENINL ¢
> MBMPFRERT RBEANIRL b
> WEMHMBERT RBITI A4

a B y & & =
3 0 I 3 1 80
B I 2 0 3 2 75
C 0 4 2 5 0 95
2 1 0 1 2 70
F) 2% 6 7 3 10 5
C:(Cl Cr C3 (4 CS)
=(6 7 3 10 5)
b=(b1 b, b b4)
=(80 75 95 70)
ay1 A2 Q13 0A14 Qqg
A — Az1 Az (A3 dpsa djg
a3q1 d3 d3z3 d34 dzg
Qg1 Agp A3 Agg  Uys
3 01 3 1
{1 2 0 3 2
~\0 4 2 5 0
2 1 0 1 2




= - c=(C1 C; C3 (4 Cx)
q:}-étl:n-l-IEFT*T% =(6 7 3 10 5)
. . _ b=(b; b, b; b
> BELEOERIE (REEE) | S e e
min. 6x,+7x,+3x;+ 10x,+5x; Q11 Q12 d13  O1g
S. t.3x,,+ Ox )+ L3+ 3w+ L s =80 |4 — | 21 @22 23 Qs
1x,,+ 2x,,+ 0x,;+ 3x,,+ 2x,; =75 31 Q32 O3z O34
Ox;,+ 4x;,+ 2x55+ Sx;,+ Ox; =95 Q41 Qa2 Q43 Cag
2x,,+ 1x,,+ Oxy 5+ 1x,,+ 2x, =70 SR
X175 X199 X130 Xj g0 X x;5= 0 — | e e
11 %12 X135 X145 X355+ 05 Xy 0 4 2 t© 0
2 1 0 1 2

> mxuE b fERE D E 1k (EREL)
min.Z]S:l CJX]
S. L. 215-=1 AjjXj < bl(l =1, ,4)



How to use CPLEX?

> RTAS T IODIERL
@ [F7AILE)]—[FRN)]—[OPLT AT IR EER
@ [P xHR4] ZFEEA (5l : ProductionPlanning) L, 3AFRICFIvIT 5

%] -‘rzvr)w@%ﬂ%m@ﬁhu S
4 ETIL DR EHCROMBEERTSELTL
@ F—aDER ZOBHHMBEEIAELY

Q@ [TV

> JACI MDDV OO DEFIZER
v [#8R1] — [configl] X HABEEBICEBLLGEVWEERTHRIS—I2HS
v BT LT 7AIL [ProductionPlanning.mod] — [pp.mod]
v’ T—AR7J74 )L [ProductionPlanning.dat] — [ppex1.dat]

> BETILIF7AIL-T—3T77AI)IVEEB LIRTF (RR—IUSHR)
> [configlICET IV IFAINET—E3T74ILEYRT S



How to use CPLEX?

» pp.mod

o3 /] M
.3/ EERE

int i max
int j max

=

c.i_max;// MREESDOEEH
1..j_max;// HEEEDEH

range I
range J

int a[I,3] = ...;// BESRIBAH-YDOLEMBBERT 1T
int b[I] = ...;// M#Ei OFEH
int c[3] = ...;// ®&A] O1EMLH-YFIE

dvar float+ x[J];// i DEE=Z(FE)

maximize
sum(j in J) c[JI*x[J];
subject to {
forall(i in I) {
sum(j in J) a[i,j]*x[J] <= b[i];
}
}



How to use CPLEX?

> ppexl.dat
i max = 4;
j_max = 5;

C
b

[6 7 3 10 5];
[80 75 95 70];

d

[

R hANO
O NN B
R Ul W w
.N. l®“l\)lll—\l

e O P W



How to use CPLEX?
HEERDOEZE (1270 5F) B

>

//
//

solution (optimal) with objective 316
Quality There are no bound infeasibilities.

{

// There are no reduced-cost infeasibilities.
// Maximum Ax-b residual = 0

// Maximum c-B'pi residual =0

// Maximum |x| = 45.5

// Maximum |slack| =4

// Maximum |pi] = 2.2

// Maximum |red-cost| = 0.2

// Condition number of unscaled basis = 1.2e+01
//

X = [0 1 45.5 @ 34.5]; ]

J

|

optimal solution
B 1 i




K

EEHEE-TS |

> HEETE D EEE (4512)
> TFEDHMFL A B, ...,GHHS
> SIEDHEG a, B, 7,0, e &DKb
> FMHEOREYH, S8 RETI1EA
ELDITIELGMEE, FIRITER
> BRI EREROEETEZF-TX

G
lE

o Aaw
o N D ~N W DS W

> B mEIERIEEELTERIEL, CPLEXTf#EL

N U WS NN S

W S QO W © W O N

N N N S N U W W S

A N N W N © N N M

o o
QS o S [HED

60
80
90

> ETILI7AIL[pp.mod] (X BHED T, T—2T 74 )L[ppex2.dat]Z1EY fE<



